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1. Immediately fill in the particulars on this page of the Test
Booklet with Blue/Black Ball Point Pen.

2. This Test Booklet consists of three parts - Part I, Part II and
Part III. Part I has Aptitude Test has 50 objective type
questions consisting of FOUR (4) marks for each correct
response. Part II 30 objective type questions of Mathematics
consisting of FOUR (4) marks for each correct response.
Mark your answers for these questions in the appropriate
space against the number corresponding to the question in
the Answer Sheet placed inside this Test Booklet. Use Blue/
Black Ball Point Pen only for writing particulars/marking
responses on Side-1 and Side-2 of the Answer Sheet. Part III
consists of 2 questions carrying 70 marks which are to be
attempted on a separate Drawing Sheet which is also placed
inside the Test Booklet. Marks allotted to each question are
written against each question. Use colour pencils or crayons
only on the Drawing Sheet. Do not use water colours. For
each incorrect response in Part | and Part 11, one-fourth (Va)
of the total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an item
in the Answer Sheet.

3. There is only one correct response for each question in Part I
and Part II. Filling up more than one response in each question
will be treated as wrong response and marks for wrong response
will be deducted accordingly as per instruction 2 above.

4. The test is of 3 hours duration. The maximum marks are 390.

5. On completion of the test, the candidates must hand over
the Answer Sheet of Aptitude Test and Mathematics-Part I
& II and the Drawing Sheet of Aptitude Test-Part III
alongwith Test Booklet for Part III to the Invigilator in the
Room/Hall. Candidates are allowed to take away with
them the Test Booklet of Aptitude Test-Part I & II.

6. The CODE for this Booklet is N Make sure that the CODE
printed on Side-2 of the Answer Sheet and on the Drawing
Sheet (Part III) is the same as that on this booklet. Also tally
the Serial Number of the Test Booklet, Answer Sheet and
Drawing Sheet and ensure that they are same. In case of
discrepancy in Code or Serial Number, the candidate should
immediately report the matter to the Invigilator for
replacement of the Test Booklet, Answer Sheet and the
Drawing Sheet.
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Part I / ¥ T I
Aptitude Test / 3f&far adieror

Directions : (For Q. 1 to 6). Find out the total number of surfaces of the object, given below in the
problem figure.

f[E9r: (7.1 36 & fow) T STla H [FERd a5 7 Gael H1 Fol G&T T FIIT )
Problem Figure | F97 STld

1) 14 @) 13 3) 15 4) 16
2. %

1 11 @) 10 3) 13 4) 12
3. %

1 13 Q) 14 3) 15 4) 12

—~~
—
A
—
o~

(2) 15 @ 11 4) 12
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Problem Figure | F97 3fhld

—~
—
A
—_
N

1) 14

(2) 13 (3) 15 4) 16

Directions : (For Q. 7 and 8). One of the following answer figures is hidden in the problem figure,

in the same size and direction. Select, which one is correct ?

F&or: (w7 R8s & fam)1 719 &1 7 S0 egiadl & @ T Pld 19 R 9 F g w9 4

999 3la 4 fdt &1 ®i7 9 w@ & grw

Problem Figure | F97 STld Answer Figures / 3tX 377?7‘/?/2#'

Q) (2) (3) 4)

= J /! >

Q) (2) (3) (4)
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Directions : (For Q. 9 and 10).  The problem figure shows the top view of objects. Looking in the
direction of arrow, identify the correct elevation, from amongst the
answer figures.

9T : (0.9 310 & @)1 597 gl & awqail &1 SS9 g9 fe@ran 77 &1 R &1 feon & 3@
8U R 3TFaal 4 G $9%1 Gal T §vF Teag/

Problem Figure / 97 A Answer Figures /| 3 3777?"7%?77

» | 0] (4T T

ﬁx% Rl it

N/Page 4 SPACE FOR ROUGH WORK / T% @&Td & fau smg



Directions : (For Q. 11 to 14). Find the odd figure out in the problem figures given below :

FEor: (W11 @14 & faw)1 79 &1 7 797 smpfaal & @ fa9w sirgfa Fard |

(2) (3) (4)

— T
12. \\]\L \\]\L

1) (2) 3) (4)
13. Q_K ‘)_é i
@ ) 3) (4)
O N L
@) ) (3) (4)

Directions : (For Q. 15 to 17). The 3 - D problem figure shows the view of an object. Identify, its correct
top view, from amongst the answer figures.

f[Eor: (W15 @17 & 7@ )1 3 - D 97 37fd 4 T &g &1 fo@ren 77 &1 39471 9gl SR 599, IH

st § | TganT
Problem Figure / 97 STIF T Answer Figures / 3tX 377??7%?#
15. ] ]
(1) 2) () (4)
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Problem Figure | F97 3Thld Answer Figures / TR STHlaar

16. [ [ [ [

1) (2) ) 4)
17. — - — - - L
(1) () ©) (4)

Directions : (For Q. 18 and 19).  The problem figure shows the top view of an object. Identify the
correct elevation, from amongst the answer figures, looking in the
direction of arrow.

fFEor: (W18 3119 & fo@ )1 797 sifa 4 &5t a&q &1 W1 599 fe@rar 7 &1 @} &1 fawm &
TEd GU I THIaT ° q $q% G& THE 599 g7

Problem Figure / Answer Figures / S0 ST
gv 3Tl
- (O
} (1) 2 3 @
19. | \
| ] | | ]
} 1) @) 3) (4)
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Directions : (For Q. 20 and 21). How many minimum number of straight lines are required to draw
the problem figure ?

fder: (W20 321 & fo@ )1 719 &1 7 397 snhfa B T P 7T FT G FE, B dret s
FT STTIHA & 7

Problem Figure / 97 3T&hid

20.
1) 20 @) 21 3) 18 4) 19
1 9 @ 12 ¢) 11 4) 10

Directions : (For Q. 22 to 25). The 3 - D problem figure shows a view of an object. Identify the
correct front view, from amongst the answer figures, looking in the
direction of arrow.

FEor: (T22 @25 F @)1 3-D F97 37h1a & U ag & U 99 &1 (@ T 81 X 1 o
T @ §U, 39% T T 5T FI I Hla 4 Q@ T

Problem Figure / 97 3fThld Answer Figures / 3 STIHIaar
22. @ ] — ] -
B [ [ ] [
1) @) ®) 4)
2. E } HE N F q
@, gy
1) @) ®) 4)
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Problem Figure / F97 SfIshld Answer Figures / 3tX st

24. L] [] [T L]
]
(4)

<>
.‘ B
% S (M (o

®) (4)

Directions : (For Q. 26 and 27). How many total number of triangles are there in the problem figure
given below ?

AT : (W26 327 & forw )1 719 &1 7 397 srfa 7 Ay 1 For GE At & 2
Problem Figure / H37 ST1H1d

26.

1) 10 @ 9 @) 11 4) 12

—~~
[ERY
N
—_
—_

2) 14 3) 12 4) 13
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Directions : (For Q. 28 to 30). Which one of the answer figures is the correct mirror image of the
problem figure with respect to X - X ?

fFEor: (728 @ 30 & @)1 SR srpladl & @ &l STfa &1 T g97 7T #7 X - X G Garera

et gy gfafer & 2
Problem Figure | F97 STld Answer Figures / 3 377?"7%2#
X
28.
X
@ ) ©) (4)
X
* 27 §& ? ~ i& §&
X
(1) (2) 3) 4)
X
| | | | |
30.
| x | | | |
1) ) 3) (4)

Directions : (For Q. 31 and 32). The problem figure shows the elevation of an object. Identify the
correct top view from amongst the answer figures.

fder: (W31 3132 & @)1 397 377l o ot aq 7 G7@ 99 @ 747 &1 SR ST 3
T 3THT G&l SWT g9F TN |
Problem Figure | F97 STld Answer Figures / 3?/'\’377;7:’7%27?'

- T
@)

[ (@
) @) ©) @
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Directions : (For Q. 33).

g9 : (W33 & for@ ) 1

Which one of the answer figures will complete the sequence of the three
problem figures ?

I STFE F G T G TPl F AT T STFE H T G THT
(sequence) T & ST ?

Problem Figures / J97 s

o o

g -

Directions : (For Q. 34 and 35).

Answer Figures / 3 sHEr

N

A

O

(2)

)

problem figure, after the problem figure is opened up ?

fdor : (W 34 3T 35 & fom )

Problem Figure | 97 3Thld

Answer Figures / 3TX st

17

NGy

2 [

.@

1)

Sl

2

—~
~

(O

—~

2)

4)

Which one of the answer figures, shows the correct view of the 3 - D

3 - D 999 3pld #! Gierd T, I NFad 4 & & g9 HiT a e ?

Sl

—
@
~

(O

—

3)

By

& L]

&

=
N
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36.

37.

38.

39.

40.

What is texture ?
(1) Lines drawn in one colour

(2) The way a surface looks and feels

(3) A solid colour
(4) A type of shape

What secondary colour is obtained by
mixing blue and red colours ?

(1) Orange
(2) Brown

(3) Pink

(4) Purple

Which one of the following material
cannot be used in its original form for
construction of walls ?

(1) Laterite

(2) Granite
(3) Fly ash
(4) Basalt

Which one of the following is an odd
match ?
(1)  Shrinking Polar Caps - Earthquake
(2)
(3)  Deforestation - Climate change
(4)

Tsunami - Oceanic Earthquake

Ozone layer - UV rays

Why do large industrial buildings have

high located glazing on the North side ?

(1) To get uniform shadow - less light
through the day.

(2) Because the sun stays on the North
side throughout the day.

(3) To getbright sunlight throughout the
day.

(4) To stop the workers from looking
outside.

36.

37.

38.

39.

40.

Tfd 1 ?

(1) w1 H o T e

2) 59 7@ = w0 fead iR wegy B
€

(3) THIW{

(4) T TE I RN

et 3R @ TN @1 oad H faam | s
T (secondary) 1 fyerm ?

(1) R

(2) @

(3) et

(4) e

ari # M F fau, freifea § @ s
a1l Ut ol SRR H ST el fhar 51
gohdl ?

(1) &Rl (AE2)

(2) TR

(3) T T

(4) oERE

freiferd o @ e Ig=F A TE @I ?

(1) e 2t 7 fage - oy

(2) GAH - HEEERE gk

(3) TA-STIUTV - ey I

(4) SIS T WA - 1. foreo

! enfiter TARAl | 39 1 W fewn § 5=
TR T F] A 0@ 2

(1) 9 & wum fod s % GeEt 9=
& fere
2) s T s oo § @ o war §

(3) 9 fed I =1 o et 9 * foag

(4) M FHE ATl Dl IR @ F Tk 6

fee
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41.

42.

43.

44.

45.

Which one of the following is a sound
reflecting material ?

(1) Glass

(2) Fabric

(3) Thermocol
(4) Jute cloth

Which one of the following is not a

matching set ?

(1) Egypt - Mississippi River
(2) England - 10 Downing Street
(3)  San Francisco - Golden Gate Bridge
(4) Washington - White House

Lotus Temple in Delhi was built by :

(1) Bahais
(2) Muslims
(3) Jews

(4) Jains

Who among the following is not an
architect ?

(1) Hafiz Contractor

(2) Raj Rewal
(3) Zaha Hadid
(4) M.F. Hussain

Which one of the following is not a
matching set ?
(1) Jaipur - Canals

2)  Udaipur - Lakes

(2)
(3) Sundarbans - Mangroves
(4)

4 Varanasi - Ghats

41.

42,

43.

44.

45.

T Q SH-9I, Lat qUerd gere § 2

(1) ==

(2) U

(3) wHihIA

(4) UZIHT Rl ®UST

frifrd & ®F-11 9= 7 71 @ ?

1) fo= - faeifadt sfen

) IS - 10 THHAT e

3) T WIfgEe - Tieed e fost
)

AT - =B BH

(1) s A

(2) TEfeH A

(3) wgfedi A

(4) SR

T F HH-HT IEHR TE § 2
(1) TS HlgFRR

2) TS @@

(3) SEIEER]

(4) TAUE g

fr=ifera B @ -9 9= B 76l @ ?

(1) TR - T
(2) SR -
(3) <& - HAUE
(4) RO - BT

N/Page 12
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46. Which one of the following is not an
earthquake resistant structure ?

(1) Steel framed building

(2) Timber framed building
(3) RCC framed structure
(4) Load bearing brick walls building

47. Which one of the following is an odd
match ?

(1) Temperate - Shimla
) Hot and Dry - Jaisalmer
(3) Hot and Humid - Chennai
) Cold and Dry - Ladakh

48. Green architecture is promoted these days
because :

(1) It lasts longer
)  Green is a good colour
(3) It costs less initially
)

It is environment friendly

49. Buckingham Palace is located in :

(1) Geneva
(2) Singapore
(3) Paris

(4) London

50. Fatehpur Sikri was built by :
(1) Humayun

(2) Shah Jahan
(3) Jahangir
(4) Akbar

46.

47.

48.

49.

50.

freAifena el 8 @ SF-91 ey falius 72

(1) wIA % %A | o4 AR

(2) THS % WH | I TARG

(3) SIRHLE. T HT

(4) 9R T dTelt 21 Y AR Hi TARG
T ¥ FE-91 9= B & @ ?

1) IS (Temperate) - @

)

2) TR SR FET - AR
) TRH SR TH - AL

4) 3 IR Y@ - A<E

T el 3R aregeren =1 Uicamed fean S §
FAIfh

(1) IT R TH =l §

(2) BT TR

(3) TEH IR H w9 T el §
(4) 9% TATERY % ITHRA §

Ffsem Yo el feord €2
(1) SHarH
(2) R
¢) e H
(4) @ d
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Part II / ¥TT 11
Mathematics / Ut

X

X

e e
51. If f(x)= , 51. (x)= ,
/ 1+ ¢* e f 1+ ¢*
f@) f(@)
I = x g{ x (1—x)} dx and L = x glx (1=x)} dx Qe
f(=a) f(=a)
f@) f(@)
I, = J’ gl x (1-x)) dx, I, = I gl x (1-x)} dx ¥
f(=a) f(=a)
. I
where ¢ is not an identity function. Then S ¢ T qoqHh Held T e @ I_Z FTHH
1
2 .
the value of I, is: %,
@ 1 1) 1
@ -1 2 -1
1 1
®) 3 ® 3
4) 2 4) 2
52. If the point (p, 5) lies on the line | 52 fe fog (p, 5) T @1 W feorq T y-318 &
parallel to the y-axis and passing through T 2 qogr I@rent
the intersection of the lines 22 +1)x+by +4(ad+a)=0 qogr
2(a? +1)x +by +4(a’+0a)=0 and (2 +1)x —3by +2(a3 +a) =0 % Whresg feig
(a2 +1)x —3by +2(a3+a)=0, then p is '@f%ﬁﬁv‘(ﬁﬁ?%ﬁﬁpﬁﬂﬂ%:
equal to :
1) 2a 1) 2a
(2) 3a (2) 3a
@) —2a (3) —2a
(4) —3a (4) —3a
N/Page 14 SPACE FOR ROUGH WORK / T% @&Td & fau smg



53.

54.

55.

The area bounded by the curves y?=12x
and x?>=12y is divided by the line x=3 in
two parts. The area (in square units) of the

larger part is:

(1) 13%
) 24%
(3) 14%
@ ¥

If z is a complex number of unit modulus
and argument 0, then the real part of
z(1 — 2)

Z(1+z)is:

0
1) —2sin? -
(1) sin >

0
2) 2cos® —
(2) cos” o

0
3) 1+ —
(3) cos -
0
4) 1-sin
4) s1r12

If the roots of the equation

1 1 1
+

X+p x+q r

are equal in magnitude

and opposite in sign, then the product of

roots is :

1y - % (p*+q°)

2 - % (p*>—q°)

3) P*+9)

@) % (p*+q°)

53.

54.

55.

TRl y2=12x A x2 =12y & &= foR &%
1, Y@ ¢ =3 5 3 91 H Wi TR ae
T T ke (o gehTgal 7)) ®

a 137
@ 24
@) 147
@

afe 7 Tk Gy Hen § {9t adis 18 qen

1—%
WO%,?h;((l_i_z;WOIIMIr\OIOh T #
(1) —ZSinzg
(2) 2coszg
(3) 1+ cos
4) 1—sing
Ife FHtRT
111

tp  x+q r I T T T qe
fauia fo=el & €, 1 ol 1 R & :

1y - % (p*+q°)

2 - % (p*—q°)

@) P*+9)

4) % (p*+q°)

N/Page 15
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[l
56. If S = [, keN, where N is the set of
P 17

57.

|

natural numbers, then (S,)" (S,) !, for

neN, is :

1) Sy_,

) Son-«k

@) Sum+k-1
) Syry g

— — —

Unit vectors a, b, ¢ are coplanar.

A unit vector 4 is perpendicular to them.

i (7 x 5)x(7 x Ei)=-i—-j+—k
6 3

and the angle between ; and E is 30°,

then ¢ is/are:

R
) §2?;%+%E
o S
@ %?+§_%§

56.

57.

Ife ITFd HEAe & =" N & fag

k
sk=Dl E, keN 2, @ neN & fau
D 1

SN (ST

1) Sy,
(2)  Son-«
B Sam+k-1
@) Sy

HES WEW 4 b, ¢ HEGAE | T AR
i ST W o=mad 21 afe

(;xz)x(zx;):%?_g%gk%

Tfgwn

M 4 qM p F AT FRMI0°E, A
?/%:

R
) %Q?‘;%+%E
o i
o e

N/Page 16
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58.
three

59.

log,02, log,y (2*—1) and log,, (2*+3) are

consecutive terms of an A. P. for :

exactly two real x

more than two real x.

no real x

exactly one real x

The locus of the mid points of the chords

of the parabola x?=4py having slope m is

a:

(1)

4)

line parallel to y=mx, m#0 at a

distance 2pm| from it.

circle with centre at origin and

radius [2pml|.

line parallel to x-axis at a distance

|2pm| from it.

line parallel to y-axis at a distance

|2pm| from it.

58.

59.

x & T 7l & fag log,(2, logy (2*—1)
qllog, (2% +3) T HHIT 91 < i HANT
T2

(1)

x % Hedl T IRtk A o fa |

x % T 9 ek aredfas Al o fog |

x & fowdt off sm&afas 7 & fau =1

x & FHad Teh Irfaeh F & fau|

AT 2 =4py i Sianed, SR T m T,
o we fogsti &1 fog 99 :

(4)

y=mx, m=0 % TR @ T I ITH
|2pm|3hsf§{:lm%l

Teh g4 § foraet she 9ot foig ® qen oo
12pm| B

Toh @1 & S x-3787 & T § a1 399
12pm| & T W F

Toh TG ¢ i1 y-3781 o THIR ¢ a1 35
12pm| T T W E

N/Page 17
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60.

61.

62.

A variable plane is at a constant distance
p from the origin O and meets the set of
rectangular axes OX; (i =1, 2, 3) at points
A; (i=1,2,3), respectively. If planes are
drawn through A, A,, Az, which are
parallel to the coordinate planes, then the

locus of their point of intersection is :

1,1, 1_1
1 3 "3 T 373
@) X1 X X3 P
(2) X3 +x§+x§=p2
_+i+_—_

(3) X1 X2 X3 P
P S U

4 R R )
) X1 X2 X3 P

Consider the differential equation,
ydx— (x +y2)dy=0. If for y=1, x takes
value 1, then value of x when y=41is :

1) 36
2) 64
3) 9

4) 16

Let f(x)=|x— x|+ |x—x,|, where x; and x,
are distinct real numbers. Then the

number of points at which f(x) is minimum,

@ 3
(2) more than 3
G) 1
4) 2

60.

61.

62.

Teh =R HHAd qalfog O § Tk TR g p W
@Al § SR GHeRIeR el o Tk qq=d
OX; (i=1,23) & fogai A, (i=1,2 3) W
FHAR: Yfdess w21 AR AL, A, A E
frcyTier THaal o THIG 99qd ©id 9 ©, a1

ﬁwmwﬁgqa%:

4 2 2 2
) X X2 X3 P

HIRAT HHIHTO ydx — (x + y?)dy =0 T
foaR iU ARk y=1F fauxFMAF 17T,
?ﬁy=4%mquﬂ%:

1) 36
2) 64
@) 9

4) 16

AT flx)=|x— x|+ |]x—x,| T, et X, A9 x,
fafie arfas ged €, 9 57 fogel &1 gem
W fo) FAA AN R, T

1 3
(2) 3% sfyesw
@) 1
4) 2

N/Page 18
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63.

64.

65.

If a circle has two of its diameters along
the lines x+y=5 and x—y=1 and has

area 9m, then the equation of the circle is :
1) x?+y?—6x—4y+3=0

3) x2+y2—6x—4y—-3=0

—~

(1)

(2) *+y?—6x—4y+4=0
)
)

(4) x2+y?—6x—4y—4=0

Suppose that six students, including
Madhu and Puja, are having six beds
arranged in a row. Further, suppose that
Madhu does not want a bed adjacent to
Puja. Then the number of ways, the beds

can be allotted to students is :

(1) 600
2) 384
(3) 264
(4) 480

1
In a AABC, if |1 0, then
1

SO
O 2 <
1

sin2A + sin?B +sin2C is :
1) 2
33

@ =

g Ne)

)

i~ | a1

4)

63.

64.

65.

Ifs T J9 o A AW WA x+y=>5
x—y=17% STy € qen frgen &9%a 9 ¥,

A I I T GHHOT E
1) x?+y?’—6x—4y+3=0

(1)

(2) xX*+y?—6x—4y+4=0
(B) x2+y?—6x—4y—3=0
(

4) x’+y’—6x—4y—4=0

A B: foenfuE, f59 7y 9o o wftwfea
T % U9 TH Ul § oHafted ©: fae ¥
TR Ay, I % Herw aren foaea? &l =medt, @

o Tl ¥ Ig for faenfei =1 fau =

THA T, 3T B H@A T

(1) 600

(2) 384

(3) 264

(4) 480
1 a b

TF AABC ®, afge |1 ¢ a4/=0 %, @
1 b ¢

sin2A + sin2B + sin2C ® :

1 2
® %
9
) —
5
R
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66.

67.

68.

Let P be a point in the first quadrant lying
on the ellipse 9x2+16y?=144, such that
the tangent at P to the ellipse is inclined at
an angle 135° to the positive direction of

x-axis. Then the coordinates of P are :

04 30
O Hp - »H
6 90
2> Hs "5
0J143 10
(3) BT/4D
0 0
8 770
@ G5

If the I —A_y-2 2o M g
e lines 1 1 3 an

X_YE2Z 2 ersect each other, th

1 > 1 intersect each other, then

\ lies in the interval :

1) (11, 13)

@ O 11)

(3) (~5-3)

4) (@13, 15)

Sum of the last 30 coefficients of powers

of x in the binomial expansion of (1 +x)°°

is :

(1) 2%9-229
2) 2%
3) 229
4) 228

66.

67.

68.

M1 P, Y| =qie &1 U@ foig € S < 99
9x2+16y2=144 R feom T o < 990 &
fog P IR i T8 ¥9%1 @1 x-318] Fi ¥R
ﬁ:&fﬂ%msx 135° %1 10 S €, O P %

06 90
2 Hs "5
0J143 10
@G OO
O3 4p
s 70
(4) "3 %
sx—4 y—2 z—-N\
KL 1 T 1 3 ™
%zyzzzzwuﬁ%ﬁ%ﬂhﬁm
A | feod §, a8 &
1) (11, 13)
2) O 1)
B) (=5-3)
4) (13, 15)
(1+x)%° % fgug JaR & 21f< 30 U&I & x &
T & TOTihT T AT ®
(1) 259_229
(2) 258
(3) 229
(4) 228
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69. f(x)=|x log, x|, x > 0, is monotonically

decreasing in :

(2) (e,)
10
® & 4
! 1D
@4 g f
1- 5 sin’ x f(x)
70. If [——————dx=
J—cos5x sin® x g cos® x
flx) is :
(1) cotx

2 —cot x

4 cosec x

(2)
(3)  —cosec x
4)
71. Let p and g be any two propositions.

Statement1: (p > g) <> gv ~pisa
tautology.

Statement 2 : ~(~pAq) A (pVv g) & pisa

fallacy.

(1) Statement 1 is true and statement 2

is false.

(2) Statement 1 is false and statement 2

is true.

(3) Both statement 1 and statement 2 are

true.

(4) Both statement 1 and statement 2 are

false.

+ C , then

69.

70.

71.

fix)=|x log, x|, x > 0 f51& faTar | Tanfee
BHAM , B ¢ :

® @, ¢
@) (e,®)

_§ ginl
'qﬁij'l 5smxdx= f(x) +C 3

cos® x sin® x cos® x
flx) TR E
(1) cot x

(2) —cotx
(3)  —cosec x
(4)

cosec x

HT p Tl g 1S ) W1 |
HIT1: (p > q) © g v ~p Th [T |

§W2:~(~pAq)A(pvq)Hp@%<_°”W
|

(1) HoF 1T T I FIF 2 3TA T |

(2) HYA1 A § 9 FYA 2 TA T

(3) YA 1q HeH 2 A TA T

(4)  HF 19 FHUA 2 I 1A T |
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72.

73.

74.

3
LetT<9<’ﬂ' and

\/2c0t6+ 12 =K—cot6,
sin“0

then K is equal to :

w Y
2 1
@) -1
@4 o

A vertical pole stands at a point A on the
boundary of a circular park of radius a and
subtends an angle « at another point B on
the boundary. If the chord AB subtends
an angle a at the centre of the park, the

height of the pole is :

.
2a sin— cota
(1) >
(64
2a cos— cota
(2) >
.
2a sin— tana
3) >

(¢4
2a cos— tan
(4) 5 tana

If
48 47 46 o 2 1

23 34 45 48.49  49.50
5 10

1 1 1
=2 b KA+ =+ = + O —
2 ﬁl I 50 [ then

K equals :

72.

73.

74.

W%<6<w%6m

\/2 cot 0+ ,12 =K — cot 6%’
sin~0

KR E
™ ¥

2 1

3) -1

4) 0

a 75911 9Te1 T it ek ! aiEte I feerm
foig A W T AR Tl @1 S uiEi
F T 379 foig B W HI0 o 3fala war 2|
Ffg S AB gRiTd UTeh o thg W IV o SR
W%,?ﬁ@tﬁaﬁgﬁﬁ%:

1) 2a sz’n% coto
(2) 2a cos% cota
(3) 2a sin% tano
(64
2a cos— tan
(4) S tana

48 47 46 o 02 1

23 34 45 48.49
5

1 11 10
=2 b KA+ = + = + O —
2 ﬁl I 5o pe @

K IR ©

49.50
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75.

76.

77.

where

If f(x) = (x—p)x—q)(x—r),
p < g < r, are real numbers, then the
application of Rolle’s theorem on f leads

to:

(1) (p+q+n?<3@r+mp+pg)
2) (prq+n3gr+rp+pg)=3
3)  (ptq+n>=3(qr+rp+pg)
4)  (p+q+n?>3(r+mp+pg)

01
Let f(o=0 M ,
qu + b if | <2

if ¥ >2

then f(x) is differentiable at x= —2 for :

(1) a=iandb=—%
(2) a:%andb:%

(3) a:%andb:—%
(4) az—%andbzi

Let flx)=(x+1)2—1, x= —1, then the set
v f)=F"1) -

(1) contains exactly two elements
(2) contains more than two elements.
(3) is an empty set

(4) contains exactly one element

75.

76.

77.

afe  flx)=(x—p)(x —q)(x —r) B, &
p<q<rWﬁ$F@T€§,?ﬁfﬂﬁﬁ%
T 3 ST A e

(1)  (p+q+n?<3(r+rmp+pg)
(2) (p+g+n3gr+rp+pg)=3
(3) (p+q+n>=3(qr+rmp+pg)
4)  (p+q+n?>3(r+rmp+pg)

o 1
am f(x)=0 [
B+ bx? 3y <2

Tfg x| >2

g, @ x= —2 W Ax) ATHAAE T, I

(1) a=%?—li’2ﬂb=—i

3
=2qMb=—
@ a=3

16

3 1
a=—dYqb=— —
(3) 4 16
1 1
—— S TWA b= —
@ =77 16

A fx) = (x+1)2-1, x= —1 T, @ 9q=4
fx s f)=f"1)}

(1) ¥ %ad 3 T99E R |

2) H 9 Ifusw eeEa )

(3) T o W= R

4) ¥ Had TH 999 T
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78.

79.

80.

If the mean and the standard deviation of

10 observations x;, x,, ...... , X1g are 2 and 3

respectively, then the mean of
(x;+ 132 (+ 1) ... , (x10+1)2 is equal
to:

(1) 16.0

(2) 18.0

(3) 13.5

(4) 144

Let N be the set of natural numbers and
for aeN, aN denotes the set {ax : xeN}.

If bN N cN=dN, where b, ¢, d are natural
numbers greater than 1 and the greatest

common divisor of b and c is 1, then d

equals :

(1) bc

(2) b+c

(3) max{b,c}
)

(4) min{b,c}

A Dbiased
p, 0 <p <1, of heads is tossed until a head

coin with probability

appears for the first time. If the probability
that the number of tosses required is even
is 2 5 , then pisequalto:
o Y
@ %
G

@ 4

-00o0-

78.

79.

80.

Tl 10 &I X, Xy, .oy Xq BT HIET qAT
9% fg9dd w9 2 991 3 €, qi
(x1+1)2, (x2+1)2, ...... , (x10+1)2 ST HIEY

g

(1) 16.0
) 18.0
3) 13.5
4) 14.4

AT N Wihd G&msil o1 9= € a7 aeN &
ﬁfl@aNFﬁ?ﬂ {ax:xeN}EﬂfﬁT%l
JREbN N cN=dN ¥, S&I b, c,d 13 T
Wehd TEATE € 9T b T ¢ 1 He<H THIdh
1%,?ﬁd?ﬂl7°|'{%:

(1) bc

(2) b+c

(3) max{b,c}
(4) min{b,c}

s Afyaa fazwt, faga fa 1 &1
WIfehdl p, 0 < p < 1%, Tl 7ok ISTEAT Sl &,
& q T geell R fad 71 o 9 | At 38
T YIAMEl ®T &I 99 g9 ST grgedr

24 % dpaRE :
M Y
@ %

Z!
@ %

-00o0-
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Read the following instructions carefully :

frefefaa FEsr s @ ug -

1. Part I has (Aptitude Test) has 50 objective type
questions consisting of FOUR (4) marks for each
correct response. Part II 30 objective type questions of
Mathematics consisting of FOUR (4) marks each for
each correct response. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question. For each incorrect
response in Part I and Part 1I, one-fourth (Ya) of the
total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an
item in the Answer Sheet.

2. Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances (except for
discrepancy in Test Booklet Code and Answer Sheet
Code), another set will be provided.

3. The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked ‘Space
for Rough Work’. This space is given at the bottom of
each page and in 3 pages (pages 25 - 27)at the end of the
booklet.

4. Each candidate must show on demand his/her Admit
Card to the Invigilator.

5. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

6. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Aptitude Test and Mathematics-PartI
& Il and Drawing Sheet of Aptitude Test-Part I1I to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Aptitude Test and Mathematics - Part I & II.

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) is not allowed.

8. The candidates are governed by all Rules and
Regulations of the JAB/Board with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations
of the JAB/Board.

9. No part of the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached/folded or defaced under any
circumstances.

10. The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

11. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
hall/room.

1.

10.

11.

et o WTT 1§ (31fela wieron) H 50 a5 8 999 ©
o7 ek Tl SR & foTu = (4) 37 € 1 91 17T o6
30 IEIE U9 & oo geis o % w9t SR * forw um
(@) 3 fuifa frd T €1 gfegant & wm A 2 994 €
ek e 70 o7 i € | 78 oo 5ot wien gias &
3T TET ST 31 W HTH ¥ | Tk J9 =g Fwifa i
¥ % 9@ 3ifhd §1 9 18I 91 11 § Y&k Tera
¢ & fau 39 yed o o F4ifa $a ofwl 4 9 ga-
=g (Va) st Fo A A A e forg wmih | Afg s
T3 H et I9A 1 1 SHvAEl a1 TR, O Fad A H
T FIE 37 g S S |

T qRaeh], ST TF T SR e H SYE® TarT
H, Fifer foret oft afifeafa # (Faa wden gfaes @
S A & hie H Toerar o1 fafa &1 sres) ot wian
YReTehT SUCTeY Tl hEl ST |

T 1 S| T WHE ff W & A1 faas o1 m
T T STAL TEl g | Tt T U feras o wm, we
gfegent | fifa e S i ‘Y% % & fae s’ g/
THIfRT T, TR & TR ST | 9% ST Uedeh 58 TR A< &t
3R qen gieqent o 3fd B 3 781 (Y¥ 25 - 27) W& TE 7|
I8 WM W Ja& wWanedt fiees w1 S0 g w e
femmd |

srefieren A Fiverek i foy ergAfd & for snrg advemeff
3TIT T A BIE |

q3te wATE T W, gdiandf fAaRterel &1 e
STyl RI&0T - AW 1 TS T - 9 11 3 99 T
arfirefe qheror- T 111 61 ST vie 9 oi Suftufq o
TR ST TEAER AR A o I & WIeT T SIS |
TET 1 3 T I8 HHT ST foF 3T 0 Td T e &
wiere e § 99 STfera we Wi T St | |/ S |
TRIGITelT 3T ST T ok TS T 9T Sufeerta o &
fau T T UR Srave emq )| qenfd, wRiemed sTust
frefe qteTor We TIOTd — 91T 1T 11T TET giedeht sl
A S HR §

ST / SEaterd Ufieheteh a1 S8 SR (9 fw
ThHd, U TAMS) 1 FE1T afsid 7|

weT BTl | =R % forg adteneff S.q . /o€ & i
wa fafremi g/ frafad 21 ergfea ared T & gt
A o1 HEE 9.0, 9. /91E o frami e fafr=mi & Tar
BT

foredt oft feurfa & wiien gicert, ST 99 T ET I @1
g off 9T A @ ster fRan Srem iR T & Hier S
3rera T S |

TR GReRT, ST T T SR ¥ie H < TS Wian gien
e o1 wienefl wet a8 | s un o off ford |
Terrell gRT ulien B/ Ry W WAyl IS & faa
TRt T i UTad WA, Wfea At geafatad, s
w1 i, U, WaTge WiH, SHaSiFdh SUshIuT 9T
ot 37 WehTX el |IWAT i & ST AT SUTT i hi
Jrufa 7 g
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